Fruit Frenzy!

o

1) 4 + 3

e,

LU
44 .+ 44

4) 8 -4

AP _4F 4P
S

o =
7

w * Page 1 of 4 twinkl.co.uk




Food Frenzy!

1. Ben bought two apples and three oranges.

How many pieces of fruit did he buy altogether?

2. Jessica had eight cherries but ate three of them.

How many did she have left?

in four bags.

How many were left to bring in?

3. Dad was getting shopping bags out of the car.
There were nine bags altogether and he had brought
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4, Hamid loves grapes. He ate eight for

breakfast and seven for lunch.

How many did he eat altogether?

5. An ice cream van sells six vanilla ice creams and
eleven strawberry ice creams.

How many ice creams are sold altogether?

6. Ava shares some sweets with her friends. She starts with twenty sweets

and gives away thirteen of them.
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How many does she have left?




7. Faith and Nadim both have biscuits in their lunchboxes. Faith has ten mini

cookies and Nadim has five.

How many do they have altogether?

8. On Monday, sixteen children in the class have
milk. On Tuesday, four less children have milk.

How many children have milk on Tuesday?
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Fruit Frenzy! Answers

Question Answer

1. 4+3

7

2. 5+4

Food Frenzy! Answers

Question Answer
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8+7

15

6+ 11

17

20-13

10+5

12
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Fruit Frenzy!
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More Fruit Frenzy!
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Fruit Frenzy! Answers

Question

Answer

1. 20p +24p

44p

2. 30p+27p

57p

3. 20p+ 12p

32p

4. 16p+60p

76p

5. 24p +60p

84p

More Fruit Frenzy! Answers

Question

Answer

1. £1-40p

60p

2. S50p-18p

32p
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3. £1-36p

64p

4. 80p-25p

55p

5. 65p-36p

29p
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Shopping Frenzy!

Sugar £1.50
‘Bag of Apples £ 1.25
Bread 85p

Milk 63p AU
THANK YouU
Cheese £2.30 o

Crisps 70p

Bananas 49p

Chocolate £1.65

Pasta 55p

‘ Cucumber 35p —

1. Helen buys some milk and some cheese. How much does she spend?

2. Ivan has £2 pocket money and buys a bar of chocolate. How much change
will he get?

3. Sophie buys pasta and some apples. How much does she spend?
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4, Amelia is baking cakes and needs plenty of sugar. She wants to buy three
bags. How much money will she need?

5. Jacob buys a bunch of bananas and has £1. What change would he get?

6. Three loaves of bread cost £2.55. If Malaya pays with a £5 note, how
much change will she get?
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More Shopping Frenzy!

Sugar £1.50
Bag of Apples £ 1.25
Bread 85p
Milk 63p
Cheese £2.30
Crisps 70p

SEE res smmmmie/ )
__[ILII_I:‘ Bananas 49p

Chocolate £1.65
Pasta 55p
Cucumber 35p

1. Erica buys two bars of chocolate and pays with a £5 note. How much
change will she get?

2. José buys some crisps, some pasta and a cucumber. How much does he

spend altogether?

3. Michael only has £2. Can he buy some crisps and some apples? Explain

your answer.
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4. Ava loves pasta so buys 5 bags of it. What change would she get from £3?

5. Hardip says, “I can buy three cucumbers for £1." Is he right? Explain your
answer.
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Shopping Frenzy! Answers

Question Answer

1. 63p+£2.30

£2.93

2. £2-£1.65

£0.35 or 35p

3. 55p+£1.25

£1.80

4. £1.50+£1.50+£1.50

£4.50

5. £1-49

51p

6. £5-£2.55

£2.45

More Shopping Frenzy! Answers

Question Answer

1. 1. £1.65+£1.65=£3.30,£5-£3.30

£1.70
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70p + 55p + 35p

£1.60

70p + £1.25

Less than £2 so yes

55p + 55p + 55p + 55p + 55p = £2.75, £3 - £2.75

25p

35p +35p + 35p

£1.05, so no, he is not right.
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